
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحويل الكسور العشرية إلى نسب مئوية

64% = ________ 25% = ________

93% = ________ 50% = ________

89% = ________ 44% = ________

11% = ________ 18% = ________

93% = ________ 54% = ________

85% = ________ 4% = ________

64% = ________ 45% = ________

5% = ________ 50% = ________

13% = ________ 51% = ________

31% = ________ 35% = ________
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحويل الكسور العشرية إلى نسب مئوية

64% = 0.64 25% = 0.25

93% = 0.93 50% = 0.5

89% = 0.89 44% = 0.44

11% = 0.11 18% = 0.18

93% = 0.93 54% = 0.54

85% = 0.85 4% = 0.04

64% = 0.64 45% = 0.45

5% = 0.05 50% = 0.5

13% = 0.13 51% = 0.51

31% = 0.31 35% = 0.35
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